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The ideal outcome for the opposition is a full transition to democracy. If this outcome isn’t 
possible, however, it would like a broadened dictatorship in which it gets to enjoy some conces-
sions from the soft-liners. The political status quo is better than both an insurgency in which 
many people are likely to die and a narrow dictatorship in which the democratic opposition is 
repressed by hard-liners. We’ll assume that the opposition prefers an insurgency to a narrow 
dictatorship.

Given that there are five possible outcomes, we can assign the number 5 to each player’s 
most preferred outcome, 4 to their second preferred outcome, 3 to their third preferred out-
come, and so on. The players’ payoffs are illustrated in Table 8.2. Recall from the discussion in 
Chapter 4 that these “ordinal payoffs” tell us about the order in which the players rank each of 
the outcomes but don’t tell us how much more each player prefers one outcome to another.

We can now add these payoffs into the game tree shown earlier. To distinguish between the 
situation in which the soft-liners face a strong democratic opposition and the one in which they 
face a weak democratic opposition, we present two separate game trees in Figure 8.3. The only 
difference between the game trees is that repression produces a narrow dictatorship when the 
democratic opposition is weak but an insurgency if the democratic opposition is strong. The 
payoffs to the soft-liners are shown first because they’re the first mover in the game; the opposi-
tion’s payoffs are shown second. A comma separates the payoffs for each player. As an illustra-
tion, this means that the soft-liners receive a payoff of 4 and the opposition receives a payoff of 3 
if the outcome is the political status quo. We can now try to figure out what the players will do.

Let’s start by looking at the situation in which the soft-liners are faced with a weak demo-
cratic opposition (Figure 8.3a). As usual, we solve the game for subgame perfect equilibria using 
backward induction.13 Recall that backward induction requires starting at the end of the game 
tree (the final choice node) and working one’s way back to the beginning of the game tree (initial 
node). The final choice node has the soft-liners deciding whether to repress or democratize. 
The soft-liners get a payoff of 3 if they repress and a payoff of 2 if they democratize. As a result, 
they’ll choose to repress. We’ve indicated this choice by bolding the Repress branch at the final 
choice node. Now we move backward to the choice node prior to the final choice node. At this 

13 For a review of backward induction and subgame perfect equilibria, return to our initial and more detailed discussion of 

these concepts in Chapter 3.

Outcome Description Soft-liners Opposition

O1 Status quo 4 3

O2 Broadened dictatorship 5 4

O3 Narrow dictatorship 3 1

O4 Insurgency 1 2

O5 Democratic transition 2 5

TABLE 8.2 ■    Turning Outcomes into Payoffs in the Transition Game




